## **Abstract Details**

Work Name	Work Code	Sub Division	Estimate Amount	Lumpsum Amount	Total Amount
Providing and Fixing Children Play Equipmets and Open Gym Set and Dustbins and Sitting Bench with Instruction Board in various Parks in Ward 23 Zone 1 MCG	GUR01220201014083 227	Gurgaon	14903095.00	0.00	14903095.00

Item Code	Item Type	Item Description	Unit	Calculated on Rate	Quantity	Calculated Rate	Total Amount
NSITEM	NSITEM	-Air Swing: Providing designing and fixing air swing in pair of size 1150 x 900 x 1250 mm fabricated with main post of 114mm dia and 2.5mm thick and rest of the pipes 40mm dia and 2.5 mm thick. All pipes made up of hot rolled tubular steel and hot dipped galvanized and powder coated using Akzo Nobel or equivalent of 80-120 micron thick		NSADRate	20.00	27,200.00	544,000.00
NSITEM	NSITEM	-Arm and ShoulderWheel:- Providing, and fixing Arm and Shoulder Wheel of size 130 X '1200 X 1350 mm make of Green Gym or Equivalet fabricated with main post of 140 mm dia and 3.0 mm thic rest of the pipes are 40mm dia and 2.5 mm thick all pipc made up of hot roiled tubular steel and hot dippe galvanized, and powder coated using Akzo Nobel c equivalent of 80-120 micron thick. All welding joints of pip	Each	NSADRate	20.00	39,800.00	796,000.00
NSITEM	NSITEM	-Bridge Ladder: 10'L x 2'W x 6'H. Horizontal ladder is of m.s pipe 2", ¾" & vertical ladder is of same material of 12 gauge ISI mark with suitable PU Primer & PU Paints. Complete item with GST, Transportation, Installation with C.C & labor at site.	Each	NSADRate	20.00	23,800.00	476,000.00

NSITEM	NSITEM	-Chain Swing (2 seater): 10'L x 5'.5W x 8'.5 H. Horizontal frame & vertical legs is of m.s pipe 2" x 12 gauge. It stays with m.s pipe 1" x 12 gauge. Swinging seats-2 nos is of FRP molded Seat of 2mm thick fitted with m.s pipe ½" frame x 12 gauge which hang with m.s chain 6mm thick duly plated with ball bearing & m.s flat 6mm thick housing	Each	NSADRate	20.00	15,000.00	300,000.00
NSITEM	NSITEM	with suitable PU Primer & PU Paints.  -Double Cross Walker/ Cross trainer double:- Providing, and fixing Double Cross Walker of size 1600 X 600 X 1600 mm make of Green Gym or Equivalent fabricated with main post of 140 mm dia and 3.0 mm thick rest of the pipes are 40 mm dia and 2.5 mm thick all pipes	Each	NSADRate	20.00	32,400.00	648,000.00
NSITEM	NSITEM	-FRP Dustbin (Tilting Type) of capacity 60 LTR. Body is made of moulded fiberglass re-inforced plastic of 2mm thick having its lid with handle. It fitted with m.s square pipe 1.25" x 1.25" x 14 gauge & m.s flat 50 x 5mm, 30 x 5mm base structure with suitable PU Paints. Complete item with GST, Transportation, Installation with C.C & labor at site.	Each	NSADRate	200.00	8,560.00	1,712,000.00
NSITEM	NSITEM	-Knee HIP Raise:- Providing, and fixing Knee Hip Raise of size 1105 X 550 X 11480 mm make of Green Gym or Equivalent fabricated with main post of 140 rum din and 3.0 mm thick rest or the pipes are 40mm dia and 2.5 mm thick all pipes made up of hot rolled tubular steel and hot dipped galvanized, and powder coated using Mao Nobel or equivalent of 80-120 micron thick. All welding joints of pipe are robotic welded with joints scalloped	Each	NSADRate	20.00	29,100.00	582,000.00

NSITEM	NSITEM	-Leg Press: Providing designing and fixing of leg press of size 2000x550x1600 mm fabricated with main post of 114mm dia and 2.5mm thick and rest of the pipes 40mm dia and 2.5mm thick. All pipes made up of hot rolled tubular steel and hot dipped galvanized and powder coated using Akzo Nobel or equivalent of 80-120 micror thick.	Numbe r	NSADRate	20.00	30,100.00	602,000.00
NSITEM	NSITEM	-Merry-Go-Round (4 seater): 5' Dia. Main frame is of m.s sq. pipe 2" x 2" x 14 G and having suitable handle & footrest is of m.s round pipe 3/4" x 12 Gauge. Central pipe is of m.s pipe 3" x 12 G which further supports with m.s pipe 1" x 12Gauge with heavy duty shaft 50 mm thick & ball bearing assembly. It consists of 4 no Chair made of Molded FRP Plastic in 3mm thick with suitable PU Primer & PU Paints. Complete item with GST, Transportation, Installation with C.C & labor at site.	Each	NSADRate	20.00	39,800.00	796,000.00
NSITEM	NSITEM	-Multi Play Spiral-N-Tunnel Station Item code: ME-03 Covering Area: 30'L x 20'W It contains: FRP Spiral Slide 6mm thick inclined at 5'H – 1 no FRP Tube Slide inclined at 5'H – 1 no FRP Wave slide 6mm thick inclined at 5'H - 1 no FRP Bowl slide 6mm thick with FRP Entry Gate inclined at 3'H – 1 no FRP Stair 3mm thick inclined at 3'H- 1 no FRP Platform Hex. Shape 5mm thick in 7'Dia – 2 no. FRP Canopy – 2 no. FRP Canopy – 2 no. FRP Deer Figure on canopy – 2 no. FRP Fancy Railing Frog & Monkey Shape – 4 no. FRP Walking Bridge 7.5' Long – 1 no. M.S Spring Climber – 1 no. M.S Zig-Zag Climber – 1 no M.S Climbing Ladder – 1 no M.S Climbing Ladder – 1 no M.S Station in which vertical m.s pipe is of 3" x12G of I.S.I Mark – 2 no		NSADRate	5.00	438,000.00	2,190,000.00

NSITEM	NSITEM	-Providing and Fixing Public Information Board consisting of 75mm G.I pipe of size 2.45 m * 1.15 m with 900 mm * 900 mm G.I sheet of 16 gauge connected/welded with 5mm thick steel plate of duly painted as per column mention in drawing and fixing at site in 60*60*75 cms cement concrete in 1:2:4 block complete in all respect.	Each	NSADRate	45.00	11,491.00	517,095.00
NSITEM	NSITEM	-Pull Chair:- Providing, and fixing of Pull pair of size 2500 X 800 X 2000 mm make of Green Gym or Equivalent fabricated with main post of 140 mm dia and 3.0 mm thick rest of the pipes are 40mm dia and 3.0 mm thick all pipes made up of hot roiled tubular steel and hot dipped galvanized, and powder coated using Akzo Nobel or equivalent of 80-120 micron	Each	NSADRate	20.00	55,000.00	1,100,000.00
NSITEM	NSITEM	-Sea-Saw (4 seater): 8' L x 5'.5 W x 15" high. Frame is of m.s pipe 2" x 12gauge. Sitting planks is of m.s pipe 2" x 12 gauge and its cantilever & handles is of m.s pipe 3/4" x 12 Guage .Sitting seats-4nos is of molded FRP material in 3mm thick with suitable PU Primer & PU Paints.	Each	NSADRate	20.00	12,700.00	254,000.00
NSITEM	NSITEM	-Seated chest press: Providing designing and fixing of seated chest press in a pair of size 1800 x 700 x2000 mm fabricated with main post of 114mm dia and 2.5mm thick and rest of the pipes 40mm dia and 2.5 mm thick. All pipes made up of hot rolled tubular steel and hot dipped galvanized and powder coated using Akzo Nobel or equivalent of 80-120 micron thick.	Each	NSADRate	20.00	49,000.00	980,000.00

NSITEM	NSITEM	-Twister:- Providing, and fixing Twister of size 1700 X 1300 X 1300 mm make of Green Gym or Equivalent fabricated with main post of 140 mm dia and 3.0 mm thick rest of the pipes are 40mm dia and 2.5 mm thick all pipes made up of hot rolled tubular steel and hot dipped galvanized, and powder coated using Akzo Nobel or equivalent of 80-120 micron thick. All welding joints of pipe are robotic welded with joints scalloped as necessary	Each	NSADRate	20.00	35,000.00	700,000.00
NSITEM	NSITEM	-Victorial Steel sitting bench of size 61"(L)x29½" (H)x 18½" (D). Seat with 5 steel pipe and back with five steel pipe of size 47mmx23mm rectangular of 16 gauge ISI mark e.r.w. spl. Pipe fixed with C.I. frame on both sides with durable nut-bolts duly welded to protect it unscrew. All duly anti rusting Red Oxide primered before P.U. bus green spray paint coating long lasting. (Including all taxes)	Numbe r	NSADRate	200.00	10,800.00	2,160,000.00
NSITEM	NSITEM	-Wave Slide: 9'.5 L x 5'H. Wave slide is of molded Fiberglass Reinforced Plastic (FRP) of 6mm thick and climbing ladder is of m.s pipe 1" x 12 gauge & m.s rectangular pipe	Each	NSADRate	20.00	27,300.00	546,000.00
	Total:					885,051.00	14,903,095.00